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Solutions

Nov 20-18:35

1. Simplify each expression.
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a) 3(x+y) = 5(x—y)

2. Evaluate each expression in question 1 whenx = 3and y = —35.
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4. Graph each linear relation.
a) y=2x—3 b) 3x + 4y = 12
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2. Expand, where necessary; and then simplify.

a) (2x+3)+ (7x—9) b) (4:(2 — 7x -I-ll) - (2):1 — 3x + 10)
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= e -2 = 2" e
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= & 2 4
= x_ - L"x
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6. Simplify.

27\ (57 23 2

) (2)Z) 9 (2 ){z,, ) _
=) —
= 1o 9
|2

_ 5=

n (2)+(2) 8 (2559 + (5%)

(
-3, 5 =Yg,
_ I _ 252y
B 522
- Z22 = 5XY




	Page 1
	Page 2
	Page 3

